SHTEE —BIEER (NO) £/HE 1E
BINAGE | | - TERRIED| BEHE | BEBE
aem | pg | PERE | FEOE | Seh | opaiE |oErosy

=] RFFE ppm ppm ppm ppm
o B— 365 8731 0.005 0.161 0.044 0.025
] 266 6373 0.003 0.168 0.023 0.016
EH 97 2339 0.006 0.120 0.047 0.019
£ 366 8742 0.005 0.211 0.074 0.027
R 362 8660 0.002 0.135 0.037 0.014
FFE 365 8739 0.002 0.129 0.038 0.018
HAE 365 8738 0.003 0.139 0.030 0.022
FH 366 8742 0.004 0.160 0.070 0.026
E 5l 365 8742 0.004 0.202 0.052 0.025
Eld=p=] 366 8743 0.004 0.248 0.066 0.025
52 361 8664 0.001 0.060 0.011 0.005
e 366 8744 0.002 0.096 0.027 0.012
1% 363 8706 0.011 0.280 0.052 0.036
B14% 365 8734 0.008 0.186 0.050 0.024
AEdhg 365 8732 0.008 0.188 0.043 0.024
195 366 8741 0.007 0.226 0.079 0.030
H18TH 365 8737 0.009 0.240 0.092 0.037

SHTEE —BIEER (NO) £R1E =
B NAGE | | - TERRIED| BEHE | BEBE
axm | pm | NERE|EPHE ) ser | opsis |oemosy

=] RFFE ppm ppm ppm ppm
2 A— 365 8731 0.005 0.161 0.044 0.025
] 97 2339 0.006 0.120 0.047 0.019
EH 266 6373 0.003 0.168 0.023 0.016
£ 366 8742 0.005 0.211 0.074 0.027
R 362 8660 0.002 0.135 0.037 0.014
FFE 365 8739 0.002 0.129 0.038 0.018
HAE 365 8738 0.003 0.139 0.030 0.022
FH 366 8742 0.004 0.160 0.070 0.026
E 5l 365 8742 0.004 0.202 0.052 0.025
ElA=E=] 366 8743 0.004 0.248 0.066 0.025
52 361 8664 0.001 0.060 0.011 0.005
e 366 8744 0.002 0.096 0.027 0.012
1% 363 8706 0.011 0.280 0.052 0.036
145 365 8734 0.008 0.186 0.050 0.024
AEdhg 365 8732 0.008 0.188 0.043 0.024
6195 366 8741 0.007 0.226 0.079 0.030
H18TH 365 8737 0.009 0.240 0.092 0.037




